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Third Semester B.Com. Degree Examination,
August/September 2021

Commerce

Paper 3.4 - FINANCIAL MANAGEMENT

Time : 3 Hours] [Max. Marks : 70
Instructions to Candidates : Answer should be written completely in English
or Kannada.

SECTION - A/Qyen - &

Answer any FIVE of the following : (S x2=10)
0dRF)werte O JFNIIT eugd :

| PO

()

(d)

(e)

Give the meaning of finance.

BHTIIN O Fﬁmd ded.

A project requires Rs. 20,500 and its scrap value at the end of 5th year is
Rs. 2,500. Calculate Depreciation.

odeemdod BB Cw. 20,500 sNB) ©Bd svdd 39 T, 2,500 2B IIFT,,
ATTY TOBD SHBOWO.

What is Wealth Maximisation?
R0BR) ribééeﬁda*a Q0BTETO?

What is cost of capital?
WO Fw, OWTET?

Give the meaning of capital structure.
WOBZY T3 03 WPEIT) 3.

What do you mean by leverage?
OITees HoTTeRD? o F3R), 892

Calculate Discount factor for 10% interest at the end of 2nd year.

BodR0S 808 10%BE), I3T IPQB), HVBESe IRFT BT F0B HBOWD.
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SECTION - B/ %o - 8

Answer any THREE of the following. Each question carries 6 marks : (3 %6 =18)

CRJHTHCR BT BN g0k 38 FOINT BUITE, 6 wosrieh :

J

What are the principles of sound financial planning?

P32 HHT aleemsad S%ﬁ%@@?

g
Calculate the future value of a sum of Rs. 1,00,000 if it is invested @ 10%
interest for a period of one year.

W) BABTET Te. 1,00,000 CROLNER), 20T BRFT, 103e86 WH0DHS IABNLGY, SJe
SRN0HE, PIRT BF9e) Fo@d &HBOWO.

Contribution Rs. 50,000 fixed cost Rs. 10,000 interest Rs. 5,000. Calculate

Financial and Operating leverage.

80 (Contribution) S, 50,000, 33 i3, 6. 10,000 & B, 5,000 s20bFEEDTS
B3 B3) BTAT B T0@> HBOND.

Thermal scan company is considering purchase of machine. Two machines are
available B and S. Each Machine costing Rs. 50,000.

Earnings after tax and before Depreciation are expected to be as follows :

Year Machine B Machine S DF @ 12%

1 25,000 25,000 0.893
2 20,000 15,000 0.797
3 25,000 20,000 0.712
4 25,000 30,000 0.635
3 20,000 20,000 0.567

Calculate Net present value of the Machines assuming that straight line method

of Depreciation.
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FIores 59, s FOBA womd abo@;fdg{ DBehIen RIIT, TR abog e B D) S LI AT
BN Dor B, 50,000 B3 odog g

ooz i3 VSY smoad 381 Bogg SR 3IFY Jeren o BYT0mE0T

SFE anoz B abo3 S DF @ 129%

1 25,000 25,000 0.893
20,000 15,000 0.797
25,000 20,000 0712
25,000 30,000 0.635
20,000 20,000 0.567

CARS s o5 S,

ooz g BRT Sa’atgsrf%"af% 392, Fe 335 ;UJCJ;\; VYT BIWBOT,

What do you mean by bonus shareg? State the advantages of bonus shares.

RS Fecones DOTBERO? 93y ries emmowaﬁ% 3¢,

SECTION - C/2emn - 3,

Answer any THREE questions. Each question carries 14 marks - (3 x14 = 42)

Explain various forms of Dividend.
DG Sa2T003 df.)ﬁm)m'% D302,

The capital structure of the Quarantine Corporation Ltd. consists of an equity
share capital of Rs. 10,00,000 (Rs. 10 per share) and 20% Debentures.

Sales increased by 25% from 2,00,000 units to 2,50,000 units, The selling price
is Rs. 10 PEr unit, Variable cost Rs. 6 per unit, Fixed cost Rs. 2,50,000, Income
Tax Rate 30%.

You are Fequired to calculate -

(a) Degree of Operatjng leverage @ 2,00,000 units
2,50,000 units

(b)  Degree of Financial leverage 3 2,00,000 units
2,50,000 units
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Fagokdm* FoTOD woBeY Tud 8 Ded A0 FDFT, Jeth woBRY TAe. 10,00,000

(Se. 10 200> Bed wid) &>33 10,00,000 Bezd 20 wRBOD ZoODZNRED.
S0et3 2,00,000 essnidon 2,50,000 spssndrt H0FadRNRY, 25% Be5r HDTAIPNG.

Sovets W36 . 10 wreends dzﬁudﬂ. 6 ?gbd 3 0. 2,50,000, estzaod 301t des@ 30.

0RO HBODO :

(a) weodbrwos d3dens® B3 @ 2,00,000 adoes*rish

2,50,000 0d0dessried

(b) evdd d3dezs @ 2,00,000 adestried

2,50,000 odoesrned

Thermal scan company is considering purchasing of Machine, Two machines are

available M and N each costing Rs. 50,000.
Earnings after tax expected as follows :

Year M N DF@ 10%
1 15,000 5000  0.909
2 . 20,000 15008 & 5896
3 25000 20,000 0.751
4 15,000 30,000 0.683

5 10,000 20,000 0.621

Evaluate two machines according to
(a) Pay back period
(b) Present value

(Straight line method of Depreciation assumed)
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PFFer 7o, 0F FoBA 2,050 Q0T OB BT DT 003, 1e Boded o0, ) HE°.
B 89506030, .3 a3 el Ble. 50,000.

IND> e BOF) 301t YT Bo3T s Bed AW :

3 M N  DF@ 10%
1 15000 5,000 0.909
2 20,000 15,000 0.826
3 25000 20,000 0.75]
4 15,000 30,000 0.683
5 10,000 20,000 0621

0B HBRODD :
(@) &o==8 v=d

(b)  ZR)s 3Pe)

Lock down Ltd. has an Equity share capital of Rs. 10,00,000 in shares of Rs. 10
and lost capital Rs. 15,00,000 @ 15% Interest rate.

The output of the company is increased from 1,00,000 units to 1,25,000 units

i.e. 20% increase.

Selling price per unit Rs. 200
Variable cost per unit Rs, 100
Fixed cost 15,00,000

Income tax rate 30%

You are asked to calculate ?

(@)  Percentage of EPS increase
(b) Degree of Operating leverage

(c) Degree of Financial leverage
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e T QDT WoBTY SLBOE B, WoBHeY TA. 10,00,000 (I3 Sech da. 10)
moB3ndy 15,00,000 (15% wBoH)

emédaig) g, 1,00,000 sesngod 1,25,000 PeBNY_ 20T IPNTLZTE. ®ond dedd 20
HBF0IPNG.

Sooets 1368 T, 200 I3 Fe3TT,
waeerd S, de. 100 33 eITY,
20 #w dwe. 15,00,000

@ [=]

estr 03> 3018 Besme 30.

TORBY &BODD :

(a) Beswomesty EPS 003

(b) Boodrwss d=Svew’

(c) =ezoR0 OITees®

Briefly explain the factors influencing the amount of working capital.
BRIV WOBTIT SRIT Soees F VeTVS BoBNIDY RogZen DR
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